Bo3BpaTHble ypaBHEHUS 4-01 cTerieHu
ax™N + bx"3 +cx"2 +dx+e=0
ecim e/a = (d/b)"™2, To gesimm ypaBHeHUE Ha XN\2 u 1eJ1aEM 3aMEHY
1) xN — 7x "3 + 14x"2 — 7x +1 =0
1/1=(-7/-7)"2

1) x"N2 —7x+ 14 — 7/x + 1/x"2 =0
(-7x-7/X)+(x"2+1/x"2)+14=0
-/(xX+1/x)+(x"2+1/x"N2)+14=0
xX+1/x=t

XN2424+1/XN2=tN2
XN2+1/XN2=tN2-2

-7t + (tN2-2)+14=0

-7t+tN2-2+14=0

tA2-7t4+12=0

t1=4

t2=3

X+1/x=4

XN2+1-4x=0

v -3X+2/X="2
X2=2+V3 -3xN2-1/2x+2=0
X+1/x=3 —_
x’\2{3x+1 =0 -6XA2-X+4_O
D1=—V35-V5/2 D=1+96=97
X2=34V52 x1=1-V97/-12
OTBET: 2-+V3; 3-+V5/2. x2=1+V97/-12

2) 18x"4 — 3xN3 — 25x"2 + 2x +8 =0
8/18=(%25)"2

4/9=4/9
18xN2-3x-2542/x+8/xN2=0
-3x+2/x=t
OXN2-12+4/XN2=tN2
OXN2+4/XN2=t"N2+12
2t"2+24+t-25=0
2t"2+t-1=0

D=1+8=9

t1=-1-3/4=-1

t2=-1+3/4=1>

-3x+2/x=-1

-3xN2+x+2=0

x1l=1

x2=-2/3



